Dilsen-Stokkem *** BEAU BRIDGE CLUB *** BBC-COMPETITIE 2019 *** 4 giften per ronde *** NZ OW| gift 1 NZ OW gift 2 NZ ow gift 3 NZ ow gift 4 NZ ow
1 Male Charley-Van Hoey Angeline 2 Dewael Albert-Witters Clement 1 2 8 6 430 N3N+1 8 6 -430 W3N+1 9 5 140 N3S= 13 1 660 N3N+
3 Venken Olga-Smolders Wies 4 Paes Pascale-Kurent Annie 15 16 8 6 430 N3N+f 14 0 50 ozKJ1 14 0 420 N4S= 13 1 660 N3NJ
5 Paredis Rina-Plessers Julia 6 Swennen Hilde-Houben Marc 10 11 14 0 450 Z4H+‘l 8 6 -430 03N+1‘ 9 5 140 N3S= 6 8 630 N3N+1‘
7 Van Dynhoven Lambert-Rietjens Jac 8 Opdenacker Jef-Dewijngaert Guido 4 7 8 6 430 N3N+f 8 6 -430 03N+f 9 5 140 N2S+1 6 8 630 23N+f
9 Lemaire Jack-Jehoul Piet 10 Dirckx LizettejSimons Josee 3 12 2 12 420 Z4H=‘ 1 13 -460 OSNJZ 5 12 -50 N38J1 0 14 -100 N4SJ
11 Vandenbroek Theo-Saenen R?ne ) 12 Essers Mleke—Pllet Josee ) 13 6 g 6 430 N3N+f 1 13 -460 OSNJZ 9 5 140 N2$+f 6 8 630 N3N+f
13 Peeters lIrene-Wynants Marie-Claire 14 Leurs Marlies-Melotte Germaine | \ \
15 Linssen Els-Joosten Rik 16 Hubrechts Arthur-Reyskens Andre 9 14 8 6 430 N3N+% 8 6 -430 03N+% 2 12 -50 NSSjl 6 8 630 N3N+%
17 Joosten Gert-Christis Margriet 18 Bye 17 8 0 14 170 Z1H+3 8 6 -430 O3N+1 2 12 -50 N3S-1 6 8 630 N3N+1
Bye
NZ Ow| gift 5 NZ oW gift 6 NZ OW gift 7 NZ OW gift 8 NZ ow NZ Ow| gift 9 NZ Ow gift 10 NZ ow gift 11 NZ ow gift 12 NZ ow
3 4 0 14 -200 Z2N-2 6 8 110 N2S= 4 10 -200 W2H+3 9 5 50 01R-1 5 6 |13,9 0,1 120 ZIN+1 10 4 620 Z4H= 11 3 -400 O3N= 6 8 -200 W2H+3
Bye ‘ 14 17| 2,4 11,6 -80 OlSQ 10 4 620 z4S= 6 8 -420 04s= 8 6 -140 W3H=
12 15| 10 4 90 ZiR+1 3 11 -50 N3N-1 4 10 -200 ZiN-2 9 5 50 w2s-1 Bye
16 13| 10 4 90 ZiAN= ‘ 9 5 120 N2N= 11 3 -140 W2H41 1 13 -100 ZZKJZ 8 15| niet gespeeld 10 4 620 N4s= 2 12 -430 O3N+1 14 0 100 O2N-
6 9 3 11 70 Zi1R= 9 5 120 N2N= 4 10 -200 ZlN—é 13 1 90 ZZKQ 16 11 7 7 -50 Z2R-1 0O 14 -600 Z3N-6 6 8 -420 O4S=‘ 1 13 -450 WSHQ
5 14| 10 4 90 ZlR+f 13 1 150 NIN+2 14 0 90 ZlNQ 13 1 90 ZZKQ 7 2 7 7 -50 ZZN—f 4 10 -100 Z4S—f 14 0 50 W4H-1 4 10 -420 W4H=
1 8 10 4 90 ZIN= ‘ 0 14 -100 N3NJ2 11 3 -140 W1H42 1 13 -100 N2KJ2 3 10| 0,1 13,9 -100 ZlNJ2 2 12 -200 Z4SJ2 6 8 -420 O4S=‘ 11 3 50 W4H-
11 2 10 4 90 ZiR+1 3 11 -50 N3NJ1 4 10 -200 ZlN—é 6 8 -50 N2N—f 13 4 7 7 -50 ZSR—f 10 4 620 z4S= 0O 14 -450 04S+1 11 3 50 W4HJ
|7 10, 3 11 70 ZlK:L 13 1 150 N1NJ2 4 10 -200 ZlN—ZL 4 10 -90 01N=J |9 12|11,6 2,4 90 ZlN:L 10 4 620 z4H=| 11 3 -400 W3N=L 1 13 -450 W4HJ
NZ Ow| gift 13 NZ Oow gift 14 NZ ow gift 15 NZ ow gift 16 NZ Ow NZ Ow| gift 17 NZ Ow gift 18 NZ ow gift 19 NZ ow gift 20 NZ OW
7 8 7 7 -630 O3N+1 6 8 -420 04H= 3 11 -430 O3N+1 O 14 -140 03S= 9 10| 10 4 50 W4R-1 1 13 -430 W3N+1 10 4 100 W2Ss-1 12 2 100 O5R-
2 3 1 13 -660 OSNJZ 13 1 -170 O3H+1 8 6 -400 W3N= 3 11 -110 OZSQ 4 5 2 12 -130 WSRJl 6 8 -150 03R+§ 4 10 -150 ZSH—§ 5 9 -620 W5K+f
10 17 14 0 100 W3NJ1 10 4 -200 03H+§ 12 2 -120 W2N= 13 1 200 OlNJ2 12 1 10 4 50 W3R—f 12 2 -130 OZRJZ 10 4 100 WZS—f 5 9 -620 05K+f
Bye 17 6 10 4 50 01S—f 6 8 -150 02R+§ 2 12 -170 WZSJZ 5 9 -620 W5K+f
15 4 7 7 -630 W3N+1 6 8 -420 04S= 14 0 50 WeN-1 6 8 -100 N4H!-1 Bye ‘
9 16 7 7 -630 W3N+f 2 12 -430 O3N+1 8 6 -400 W3N=‘ 13 1 200 OSSJZ 15 14 14 0 140 Z2H+1 12 2 -130 O3R+1 14 0O 120 NIN+1 O 14 -630 W3N+
5 12 12 2 -600 WSNQ 6 8 -420 04H= 0 14 -990 WeN= 10 4 140 N2H+f 7 16 2 12 -130 W4R£ 1 13 -430 W3N41 6 8 -140 W3$=‘ 10 4 -230 W2$+i
1 6 1 13 -660 WSNJZ 13 1 -170 O1H+3 3 11 -430 W3N41 3 11 -110 01SJ1 3 8 2 12 -130 WZRJZ 6 8 -150 02R+§ 0O 14 -600 O3N= 14 0 200 OSNJ
|11 14, 7 7 -630 W3N+1L 0 14 -450 O4HJ1 8 6 -400 W3N=J7 8 6 100 ozs-f 113 2| 6 8 -110 W2R+1L 12 2 -130 OSRﬁl 10 4 100 WSS—lL 5 9 -620 W5K+f
NZ Ow| gift 21 NZ Ow gift 22 NZ ow gift 23 NZ ow gift 24 NZ oW NZ Ow| gift 25 NZ Ow gift 26 NZ oW gift 27 NZ ow gift 28 NZ oW
11 12 8 6 620 N4s= 6 8 200 N2H+3 14 0 200 W3N-2 8 6 -50 N2S-1 13 14 14 0 200 W4s-2 9 5 140 N3s=| 10 4 50 O3N-1 6 8 -100 z1s-1
6 7 0 14 110 N2s= 1 13 100 OZSJ1 12 2 140 NSHQ 1 13 -110 WlHﬁl 8 9 5 9 -620 w4s= 9 5 140 N2S+1 5 9 -110 wzs:‘ 14 0 100 OSNJ
14 3 2 12 140 NZSJ1 8 6 420 N4H= 1 13 -600 WSNQ 6 8 -80 Wle‘ 2 5 5 9 -620 w4s= 9 5 140 N2$+f 14 0 100 wW4s-2 4 10 -120 01N+f
13 8 4 10 170 23H+f 4 10 140 N3H= 1 13 -600 WSNQ 1 13 -110 WiH+1 1 10 0 14 -650 04H+1 1 13 -100 N4SJ1 10 4 50 W4S—f 2 12 -150 01NJ
17 2 8 6 620 N4s= 1 13 100 02s-1 5 9 -150 W1N+§ 13 1 100 W2HJ2 11 4 5 9 -620 04S= 4 10 90 NlNz‘ 2 12 -140 WSSQ 11 3 50 OZRJ
Bye ‘ 17 12 5 9 -620 w4s= 1 13 -100 N4S-1 10 4 50 Wls—f 8 6 -70 O1K=
15 10 8 6 620 N4s= 14 0 450 N4H+1 8 6 -100 N1S-1 4 10 -100 Z3S-2 Bye ‘ ‘
5 16 13 1 660 Z3N+2 11 3 430 ZSNﬁl 10 4 100 W3N—f 13 1 100 W1NJ2 15 6 12 2 100 W4S-1 14 O 150 NIN+2 O 14 -150 W2N+1 11 3 50 O1K-
|11 4| 13 1 660 23N+§ 11 3 430 ZSNﬁl 5 9 -150 W2N+fk 10 4 50 W1H—f |3 16| 10 4 -150 W2N+1L, 9 5 140 N2$+1L 5 9 -110 WZS=J7 0 14 -300 NZRJ




